1

Join Telegram "HaryanadJobs.in"

Rajasthan Pashu Parichar (Animal Attendant) Question Paper 1 Dec. 2024 (1st Shift)

%7
s
Match List-1 with List-II:
List-I List-11
a.  Depositing a layer . Melting
of zinc on iron
b. Changing a solid into 11. Evaporation
liquid on heating
c. Changing a gasinto IIl. Condensation
liquid on cooling
d. Changing a liquid IV. Galvanisation

into gas on heating

EAR IR

b. T % 9T 319 FI

29 0 del

Choose the most appropriate answer from the

options given below:

f9 fau o fasredi | | @aifas 39gw I M

o (A) a-IV,b-Lc-1,d-II

(B) a-ILb-ILc-1V,d-1
(C) a-ILb-ILc-Ld-1V
(D) a-IV,b-1c-II,d-1I

(E)  Question not attempted / 3TTARd g2

ABC-A13] 3¢

o(A)

o (D) femder (3 ) @ fuaerEr

the kitchen exists as a liquid,
from the cylinder it becomes

hen it burns (Change - B).
pertain to these

The fuel we US€ n
When it comes out

a gas (Change - A)t
The following statements

changcs.
Choose I
options given below:

None of the processes

1e most appropriate answer from the

is a chemical

(A)
change. | |
(B) Process - A (Change-A) 15 4 chemical
change. | |
(C) Process - B (Change-B) 15 a chemical
change. |
(D) Both Processes A and B are chemical
changes

(E)  Question not attempted _ |

r@éﬁuﬁﬂﬁﬁaﬁﬂﬁdjaﬁmﬁnﬁfﬁm%m

ﬁﬁﬁmﬁmmm%ﬁﬁﬁmm%

(afed - A) 353 518 T8 ST & (Fied - B)I A9

foy o o OitEdHl o Hat-ad €l

Frfirfiad fasredt § & @aiferes 3ugw AL TA:

ST a3 A 3R B § ¥ i ot TaES

qftard= &l 2l

(B) WOHAT- A (IR - A) T TETfh g
2

(C) fswar - B (afada - B) T i A
2l

(D) A wfFATE A 3R B TETE ThEd 8

(E) 1aia vy

Which of the following is not a chemical change?
Choose the meost appropriate answer from the
options given below:

(A) Ripening of fruits

(B) Fermentation of grapes

(C) Digestion of food

(D) Melting of iceberg

(E)  Question not attempted

frefafaa § & H-ar vaafis aiadT T2 22

Frefofad famedl & & watfire Iugw 30T
(A) el T GhAT ~~

(B) S =T fopmaa ~

(C) IS T 9T ~

-(\
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Which soil f; : . .
e oundin the western part of Rajasthan | 6~ Which of the following statements is correct in
1s less ferti ‘ :
Sitiet the context of the location of Rajasthan on a
Choo
s¢ the mosy nppmpr{m{ answer from the World Map? O
options given below: L) Choose the most appropriate answer from the
(A)  Black Soj] E-:; options given below: r
(B)  Laterite So; 8] (A) The equator passesl'thmugh the northern
il (%) q 4!
(C)  Alluvial Soil ::It PACRERgsUAL: AN
(D)  Desert Soil O (B) Rajasthan is lncu:u_":f in the southern
‘ ' hemisphere. -
(E)  Question not attempted ey
(C) The tropic of cancer passes through the
TSI % GTEEt sy 3 : W0
e 1S aTedt hi-Ht e south part of Rajasthap.
H 3ITATH -
i & Q (D)  The tropic of cancer’ passes through the
Frfeiea fashedt i & warifges sagm s middle of Rajasthan.
(A) WHET (Q\| (E)  Question not attempted
(B) & g Freifefiaa & & Fi-a o Do 6 frg wmfa
(C) wergma w e Faeidadidr
(D) - WO ﬁw%f@ﬁﬁmﬁﬁwﬁmmmaﬁ
" L) (A) W"l‘@ﬂm%aﬁﬂﬂm EEaRIELC
(E) 9 94 ) .
C':T} gl < -
o |
_ o (B) mﬁnqa'&wﬁrh?n@qﬁrem%i ~
S Due to the high utility of(this tree in the Thar o (C) qﬁ}@mﬁ%mmﬁmw
Desert of Rajasthan, if "Ys called as the 2l tY)
b e
‘Kalpvriksha’ of the desert. (D) ek &@t Wﬁ%ﬂﬂimﬁﬁﬁ?{hﬁltﬁl 2l
Identify the tree from given below options. (E) 3raiawy 0
(A) Babool 1N T Which city did M'lh'll“]_r’i Surajmal set up in
. © | Rajasthan? o
{B} Khalr [':] I-______]
(C)  Kheir (V) Choose the most npprup;jl'q-re answer from the
™ options given below: (N
(D)  Thor ) (A) Bharat BY ') Uda
q | . o aratpur ( }{.H} Udaipur
. g t attem )
(E)  Question nota TP P (C) Jodhpur (D) Mewar
TSI & 91 A8 | LO (E) Question not ﬂtlﬂlllp&ﬁ'd
FT01 56 g7 o1 TEEdc ol ‘hedgad” el STl 2l TSI JISTHE 3 TS HiI-HT W6 STt o
ﬁﬂwﬁaﬁ%ﬁﬁa&?aﬁwﬁﬁql ﬁmﬁ{ﬁaﬂﬁaﬁﬁrﬁﬁmﬁmmmaﬁ
(A) e (B) (rfﬂ'{ No(A) REGIQ (31 : 1?.J.‘c:?:ru:!:ﬂ_
N(©C)  awE (D) l{:}ﬁt (C) ST (D). FaTg
q E) a7afa vy .
(E) raia 94 ') W) -
ABC -A13] ¢ 3 [ Contd...
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The Meja Dam has been built on which of the
tollowing rivers in Rajasthan?
Choose the most appropriate answer from the

options given below:

(A)  Kothari River

(B)  Luni River

(C)  Mahi River

(D)  Som River

(E)  Question not attempted

TSTRITA 3T 1o 7t 92 e st &= 7 22

et fasedl 3 & aaffae sogew s
FiSHT 7t -

(B) Tt

(C) HreEr =gt

(D) |

(E) 3aiaud

Curd 1s formed by the microbial action of which
bacterium?
Choose the most appropriate answer from the

options given below:

(A) Mycobacterium sp.

(B) Lactobacillus sp.

(C) Streptococcus sp.

(D)  Salmonella sp.

(E)  Question not attempted

e o Sframy o6 gessfieft foran & o 29
ﬁmﬁﬁaﬁﬁwﬁﬁﬁﬁaﬁwaﬂmmaﬁ:
(A)  ATEEETA R o :
Aaerediad v

PeTFF T,

AT i,

A 94

Y4
%\

(C)
(D)
(E)

R ——

10

i)

11

On  which of the following parameters the

crossbreeding programmes  for Varigr,

improvement in poultry are focused on?

Number and quality of chicks.
Tolerance to high temperature.

a.
b.

C.
d- [ncrease in the size of egg laying birdg

Choose the most appropriate answer from i
options given below:

(A) (a), (b) and (d) only (B) (a) and (c) only
(C) (b)and (d) only (D) (a) and (b) only
(E) Question not attempted

Fage T R & 0 TR S0 i

High maintenance requirement.

Ffraa G e el WA B

a. SIS el HEAT ST orEE
b 3=d dT9HTE & id GeAgierdann

c.  3=d <@VT hl TFTIFHAT

d. ST aTe et & RR ° gig) o
frefafad famhedl 3 & waifas I9gw ST
Had (a), (b) 3 (d)

%ad (a) 3R (c)

e (b) 37T (d)

hael (a) 3R (b)

AR T

(B)
(©)
(D)
(E)

In Rajasthan Haansli is worn in which part of the
body?
Choose the most appropriate answer from the

options given below:

(A) Hands

(B) Head

(C) Neck

(D) Ear

(E)  Question not attempted

Wﬁﬁ%aﬁqﬂmﬁﬁmﬁwq‘?ﬁ%ﬂ
Freiffae firaedt 3 & waifr J9g% JCI

N(A) By
(B) f&x
(C) T+
(D) ==
(E) ygaf@ w4

[ Contd...
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12 Wl?ﬂ presented the first scientific classification of
Rajasthan painting?
Ch?ﬁsc t?m MOSt appropriate answer from the
options given below:
(A)  Rai Krishna Dag
(B)  Vijay Kumar
(C)  W.H. Brown
(D)  Ananda Kentish Coomaraswamy
(E)  Question not attempted
TSTEA el &1 worg Ssnfie affeor o
FRT S TR o
Fr=fafad faseat & & waffars sgaw sar=i
(A) TEFETE ” )
(B) fasawaw
(C) <=, U, /137

N (D) A= Hew panEEd

(E) Aqai@uy

13 In which city is the Haveli of the Bachhawats
situated?
Choose the most appropriate answer from the
options given below:
(A) Jaipur (B) Bikaner
(C) Chittorgarh (D) Siwana
(E) Question not attempted
T=3T9d i gdell -9 el | g
frafafad faweal 4 9 gaffas Iagw™ I9 T4
(A) TR N\ (B)
(C) fudteme (D) Taam
(E) dita 94

14  The salary of Sidhant decreased by 16% in one

year due to recession and in the next year it
increased by 25%. The net percentage change 1n
the salary of Sidhant is:
(A) 9% Increase (B)
(C) 7% Decrease (D) 7% Increase

(E) Question not attempted

Tal & RO U 99 0 fagid 1 999 16% 92 1
3 3T 99 25% ¢ T fEgid & 99 0 18
yfeera gftad e-

5% Increase

(A) 9%3dfg (B) 5%dfs
(C) 7% FHl (D) 7%dla
(E) SATdia 94

ABC -A13] 3£

16

17

18

~u(C)

If the difference between 71% and 62% of a

number is 81, what is 25% of the number? +
Rt T 3% 71% 3 62% H 3T 81 &1 36 HEAT
T 25% FIT &7
(A) 325 (B) 225
(C) 250 (D) 275
(E)  Question not attempted / 3TTAd 54
When 111 is subtracted from a number, it reduces
to 63% of itself. Then 20% of the number is:
Rt ST H & 111 92 9T 98 T4 T 63% T8 STl
1 39 TE&AT HT 20% =
(A) 42 (B) 126
(L) 355 (D) 60
(E)  Question not attempted / ITANT T
A sum of money amounts to X 8000 after 5 years
and to ¥ 9800 after 8 years at the same rate of
simple interest. The rate of interest per annum 1s-
IS UAUIT  HTURO AT hl G & & 5 J9
T 8000 auT 8 I # T 9800 & FTdT &l ST &l
CHEC R '
(A) 15% (B) 8%
(C) ~ 10% (D) 12%
(E)  Question not attempted / 3T T
Some of the major National parks and sanctuaries
of Rajasthan are-
a. Sitamata Sanctuary
b. Keoladeo National Park
c Ranthambore National Park
d. Dudhwa National Park
Choose the most appropriate answer from the
options given below:
(A) (a), (b) and (d) only
(B) (a), (b) and (c) only
(C) (b),(c)and (d) only
(D) (b)and (c) only
(E)  Question not attempted
TSTEITH o 0 T T I 3R IR 2 -
a.  HIATHTAT 3NEATY
b.  Hacd U JAT
C. TR T I
d.  QUAT U IAA
A fa e faeredt o @ waifaes Iug™ SOt I:
(A) @ad (a), (b) 3T (d)
(B) hdd (a), (b) 3 (¢)

el (b), (¢) N (d)

(D) ¥ (b) 3 (c)
(E) Taita g
[ Contd...
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JE “Nilagai™ is a species of- |
Choose the most appropriate answWet from the
options given be lm;if ;;

(A) Buffalo C_Ei
(B) Cow :"‘;
(C) Deer O\
(D) Horse ':i
)
(E)  Question not attempted
RUSHIREREELEAS
Frerfifian fasrei 34 wraffrs 397w 39 T
(A) FaH “;__*
~B) TEH )

\(C) e L
©) WRE
(E) ST7aid ¥4

)

20

The city in which tii‘e,ikite festival is celebrated in

"\-—!I

—

Rajasthan, on 14t?;~{anuary the day of Makar

Sankranti, 1s: &Y

Choose the most h};}ymprfate answer from the
bt

options given below:

(A) Jaipur L0
(B) Ajmer l;f:_:
(C) Udaipur =
(D) Bikaner (V)
(E) Question nﬂjf_;l’tlt:mplcd

ST | 14 a9 Gl o & 96 weicaa

o TeT ° 94T AT4T 22

fermfafad fawedl U8 waifas soge 3o 3.
L) =

NU(A) ¥R o
@) o O
(C) AR “‘;
(D) #HFEET (V)
(E) st s

ABC-A13] 3¢

21

22

=
- 141 Shakti has taken up the “y
. ...t Ui Jﬂl e alSh
M"l“-q 3;,1 with the theme “Catch the raip L__wakﬁ
‘“ i " L 1
hti)‘ Il}:; when it-falls Which of t'he fullnwing
o ~intervention ol campaig y
majo it (“eonservation  and Rﬂinw |
" parvesting i 3
b Renovation of traditional and othe, Waty
| bodies/tanks
Reuse and Recharge of bore-wellg
Z. wﬂtﬂl‘ﬁﬁéd development
" Intensive afforestation
e. .
Choose the most APPEORIRRIE - BOSWEr tion the

|
. ' elow:
options gIven elo

) (@), (0),(0), (d) and (©)

B) (a), (b) and (©) only
(C) (b), (c) and (d) only

D) (b), (©),(d) and (e) only

(E) Questicﬁ}: not attempted

et e TATCH 3 A ek AT 6

g} 1 TFel et 78 i, e 7% e din gy
g

ﬁnjlfaﬁaﬁfrﬁﬁ:r—ﬁ AT <l TqE T h
o ST STV ST AT STt A

b,  UTUTER S A S frermt / &g
A

d. mﬁﬁrﬁ g

2, NED .
Hr= feu o ﬁﬁ%ﬁ ¥ ¥ gaifas g
<44 ﬁli%m: il
“(A) (a), (b), (c), (d) 3T (e)
(B) A (a)i(b) 3 (c)
(C) &Had (B (c) 3T (d)
(D) & (b), (c), (d) 3T (e)
(E) SAqaiays

Deforestation 1§ harmful to us because- ]
Choose the most appropriate answer from
options given below:

(A) It increases soil fertility.

It increases soil erosion.
(C) It decreases soil erosion.
(D) It increases rainfall.
(E)  Question not attempted
T BHIL foTT wifyenTer ®, Fifh- |
Fefefa freedi & @aifas 3qqh Sl
(A)  F& gar it I stgra 2
(B)  ¥& 9T + 3197aT Fqrar 2l
(C)  F® YT - SqTed g2 2l
(D) T Iui gafg wwar 2
(E)  s17afta wy

[ Cont?
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Which of the following statements are correct

regarding the Keoladeo National Park?

a. Itis located in Pratapgarh city.

b. It 1s the habit
|

at for many birds.

I. +S F 2 | - - c =
Lis famous for conservation of the leopard.

d. Migratory birds come here in specific

SCasons.

Choose the maost appropriate answer from the
options given below:

(A)  (a). (b) and (d) only
(B)  (a),(b) and (¢) only
(€)  (b). (c) and (d) only
(D) (b)and (d) only

(E)  Question not attempted

FacTed WL 3T & a ¥ efafaa T a3 293

FUH G B2

a.  F€ YAI9TE YIE | fruq 2|

b. I8 3T UTTAT o1 I T B

c.  UBTIY (TS F we&wT o forw wfag 2

d.  Fel fa9y FHqe ¥ 3T sl ya™ & fa
A B

1= fau T fasredt 0 | gaifas Iggw I I

(A) =ad (a), (b) AR (d)

(B) &Ad (a), (b) 3 (c)

(C) =& (b), (c) A (d)

=9 (b) R (d)

(E) @i o4

The longest part of an alimentary canal in human
beings 1s the:
Choose the most appropriate answer from the

options given below:

(A) Large intestine
(B) Stomach

(C) Oesophagus
(D) Small intestine

(I)  Question not attempted
qT=E T SRR ATl o1 9ol o= 91T
Frfefad fasedt 9 @ gaffae Iagd 3 T4

~(A) T HA
(B) HAMHETE

N(C) Ul
(D) BT 3=
(E) IO 94

ABC - A13] 3£

The gland that secretes hormones as well as

25
enzyme in the human body and controls blood
sugar level is the:
Choose the most appropriate answer from the
options given below:
(A) Pancrecas (B) Liver
(C) Salivary gland (D) Adrenal gland
(E)  Question not attempted
sifer St Ty 3 7§ A o AT e
B )
frefarfad et #§ & @effires 397 39 T
(A) =TI (AfEREE)
(B) F&d (feaw)
(C) S ufe .
(D) AfygaF (ZHe) Ufa
(E) 3raitd 94
26  Match List-I with List-II.
List-I List-I1
a. The special movement 1.  Peristalsis
of the muscles of
oesophagus
b. The first and the II. Buccal cavity
smallest part of the
small intestine
¢. Theterminal end of  III. Duodenum
the alimentary canal
d. The part of the [V. Rectum
alimentary canal in
which the mouth
opens
g=ft-1 3 |12 -1 1 e s
geit-1 geit-11
a. UEACTFIwEURET 1L HTEEA
- ht fergrg i
b. BEAAAFUGAT AN 1. TG &
gy BT |1
c. SATER ATeA o1 3faw faa 111 Teoft
d. SMEXATA R TG TS V. HAH
& o oIS 3TdT & =
Choose the most appropriate answer from the
options given below:
1 few o faeredt # & waifies 30w 39 A
(A) a-1Lb-1V,c-11,d-1
(B) a-I,b-Lc-1ILd-1V
N~ (C) a-Lb-IllLc-1V,d-11

(D) a-Lb-IV,c-1I,d-1I
(E)  Question not attempted / TG Wy

| Contd...
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27 Choose the incorrect option about the image
formed by a planc mirror. The image is:
Choose the most ﬂﬂﬂm:rprfnrf answer from the
options given below: ()
(A)  Virtual
(B)  Erect and lnmrafli;: inverted
(C)  Real (N
(D)  Ofthe same sizﬁ:'ﬁs the object
(E)  Question not : attempted
A 40 F an?f wfdferesr o =M & TTed
forshe =1 = Hifty srfaﬁrﬂﬁm%
Friferfar e & 8 aratfiras swges e
~(A) AT (¥) §
(B) i it i ﬁ Eatn
N~ (C)  arfass )
(D) %] = SATHR HT
(E) @iy )
Ty
28  The phenomenon in x%hiich in an image formed by
the mirror, the left uf'ihe object appears on the
right and the right apﬁﬁ;ﬁrs on the left is called-
Choose the most ﬂp;;lll":;lpl'fﬂff answer from the
options given below:
(A) Total internal reflection
(B) Diffused reflection
(C) Regular reﬂect;_iuh
(D) Lateral ruﬂcctinri
(E)  Question not attempted
e vz foril 2oy gmn = wfefin o @
FecTdl @ - ¥
fafafad fasear 4 Huaff‘aaﬁmma?r
(A) EI'Uf dTl?rffT‘ilU'-{ﬁT-T
(B) fadft (Hﬁ'qﬁil‘ﬂ} QAT
() frafragmaEd !
\u(D) T wEdd :
(E) SIS

ABC-A13] ¢

20 Wwhen

N (B)

18

an object 1S placed in front of 4 Mirrg,
image for med by the mirror is erect, Of the , ¢
size as that of'the object and is at g X ¢
distance from the” mirror as the object js i o ¢
of it. the mirror 15>
Choose the most appropriate answer from he
options given below:

(A) Parabolic mifror (B)
(C) Convex mirror (D)
(E) Question not attempted
qaaﬁa%w?m”wmﬁr@wamm%
yfeferer |4, 38 E‘I??f ER: LEL a-‘;ﬁ'q]:r Sﬁfiﬂm ;
aﬁﬁaﬁmméﬁlﬁmaﬁm%mﬁmam
qqur 8-

. frerferfa faet § & wratfire 39gw T
(A) mﬁfﬂma&w\,{ﬁ} gqae g
() FWa@dm. (D)

(E) AR T4y

foed

Plane mirror
Concave Mirror

30 Match List-1 with List-II.

List-1 (lnstrumentsj List-11 (Features)

a. Ektara “* L This was beaten
L) with two thick
I wooden sticks.
b.  Algoja € : II.  Main instrument of
™) Bhopon
E. Ravanhat ?‘.h‘;l [II.  Meerabai usedto
:.._:.: play this instrument
d. Nagada IV. Flute like
instrument
A 1-1 =T G=A1-11 Sharer fiyem &1
Fﬁ-l (@mer) i) -1 (R
a.  ThHAW, 2 1 gl A dE
o+ S g Tl
; SATaT 2
b. TS ’“_fl 1. 19} =7y 9
c.  TaTEeATRL ~ _III.  Ig arerdd Hiien
ST st ot
d. e V.  Sedl S aedd

"l

Choose the mu‘s‘t appropriate answer from the
options given bélu"w

ﬁﬁqwmﬁﬁnﬁwmmﬁﬁ
S (A d-NLh R/ -1L,d-1

-1 b-1 -III d-1v
(©) -“bll\/'r.,-ld 1
(D) a-1v, bII[Ic-Id I
(E)  Question not attempted / Mﬁﬁﬁﬁgﬂ

[ C[}ﬂtd"’
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Which one of the following is not
Choose the mogsy appropriate
options given below:-

a Sufi Saint?
answer from the

(A)  Amir Khusro 0
(B)  Baba Farid L)
;s ; + =
L Khwaja anudc@i:(“hishli
(D) Dadu Dayal l'TFi
(E)  Question not attempted
i 5 & F1-8 g 72 2
fratafed faredt % & waffire sgaw s =
(A) FTHTGEU (B T HE
(C) &S Hee ™ fewdt D) =g e
(E) Aq9Rawus 16
(o

Ll h ~ v .

The life history of the saifits (which is) available
. . .. Y\ ..

in poetry form in Rﬂ_]ﬂﬂﬁli;!['l 1s known as

N .
Choose the most ﬂppmﬁ-mrf answer from the
options given below:

-

'a-

(A) Parchi ('B‘;1I Jhamaal
(C) Vachnika (D)  Jhoolna
(E) Question not attc}l!l' }led

HqT T Siaq =ded GPL- ®Y § USEAH O
3 . 2 .

I B, %?@-ﬁqidl 1T 2

fr=fefad fasredl 4 @ qaifas 3ag™ STt T

N, =A) Tt (B) A
~(C) d=i== (D) Fe
(E) 3aid 94 -
33  Who among the following is the recipient of the
Dadasaheb Phalke Award 20247
Choose the most approptiate answer from the
. . . C:}
options given below: P
(A) Mithun Chakrabn{r;ti/
{H‘} Rel-(h‘a ™)
(C) Rajnikanth ~3
(D) Amitabh Bachchan
(E)  Question not attewgtcd -
frefafaa 9§ 9 fFa EETET%"H ook QERR 2024 °
grfa famar 22 C) _
<3y . foreped # @ W ITGH I T
(A) faga=sFadi (V)
(B) @i &
(C) TSATRI ()
~(D) HAfameead L
(E) AT 94
ABC - A13 | gg

9

35

36

Which of the following is not a Rabi crop n

“northern India?
Choose the most appropriate answer from the
options given below:
(A) Gram Al
(B) Wheat )
(C) Maize G
(D) Mustard (")
(E) Question nEsl lnt{:m[?ted 4
forer 3 & r-eft 3L el © Teft it wEe T @2
frefafaa faseat o & gaifas 3ggw 390 T
D) SRS
(B) 'Plg:;a_, L)
N.(C) HFH u)
(D) ®@Ei
(E) aﬂﬁﬁ?rmr;l;}
i) L iR
The first phase Dﬂ_fl_,Jlaipur Metro Rail Project 1.e
Phase - 1A startﬂ(},.';vas from:
Choose the most appropriate answer from the
options given bel?':v:
(A) Mansamvai':ﬁ} Jaipur
(B) Mansamva}f‘t%; Badi Choupar
(C) Chandpole ;IEEJ"Badi Choupar
(D) Mansamvaf._'t? Chandpole
(E)  Question not Pttemp[ed
S ﬁiriatrﬁu‘@'—]'[ ST TIW =T, =T - 1A &
Lo g Yy _
frfafaa fasedl § & waifae 3ug® 393
(A) qmﬁatﬁl T
(B) uﬂuﬁat%,ﬁhﬁqg
(C) aiaﬁa@rag.’:’t,a*rqg
N\ (D) AEEELH SHiEdd
(E) 3T 94y )
. .
Name the n]dest;t:c!rrt situated on the banks of
river Ghaggar:
Choose the most ﬂ}Jprﬂprfm'if answer from the
options given bEl'i’wf
(A) Nahargarh : rt (B) Bhatner fort
(C) AmerFort ... (D) Jaigarh Fort
(E)  Question not attempted
T &t 3 e X gt Wit fehett a2
freferfiaa fereredl # @ Aaifas I9gw ST I
(A) e R \(B) TR
(C) fdar,, (D) SETG Ihdl
(E) 31l w4
| Contd...
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37 Brahma Temple is located in which place of | 40
Rajasthan?
Choose the most appropriate answer from the
optons given below:
(A)  Banswar (B)  Jaipur
(C)  Pushkar (D)  Alwar
{E} Question not nlicmpted
STRIT Hf~2X TSieT 3 i oy 11 ferg 29
Ffcifas faeredt § @ watfira soaw 39 T
(A)  &HdTET (B) SAY
(C) T (D) 3T
(E) i wg
38  Who in Rajasthan is remembered as an icon of 4]
bravery, self-respect and sacrifice?
Choose the most appropriate answer from the
options given below:
(A)  Vnay Singh Rathore
(B)  Amar Singh Rathore
(C) Maharaja Gaj Singh
(D) Rana Sanga
(E)  Question not attempted
T o g Sered, S{req g 3R afiee %
Stefic 35 & & 972 Toha T 27 =
Fefciad fasedt 3§ | aifaes 3ugw™ I H:
(A) Toeg e e B) s faz et
(C) WERIST TS e (D) _ T §im
(E) &Adia 94
42
39 In Rajasthan a special economic zone for Gems
and Jewellery has been established at:
Choose the most appropriate answer from the
options given below:
(A) Debari - Udaipur
(B) Boranada - Jodhpur
(C) Sitapur - Jodhpur
(D) Bhiwadi - Alwar
(E)  Question not attempted
1 T el fehet T €2
frfefiad fashedl 4 9 @aifas 39g® 39 T4:
N(A)  ZEr - (B)  SIATET - SYQ
(C) Hramqr-siage (D) et - s
(E) SR wd
ABC-A13] 3¢ 10

word ‘chhe’ indicates the Gujarat; inﬂUEn

Z:ivhich of the following ‘%iﬂlEﬂS? g
Choose the most appropriate answer fro., the
. g piven helow:
it B) Dider
(C) Wagad o R
(E) Oucﬁtiﬂn nf':t attcmPfEd
orez <3y FN-HT ST TSI T Z7iay )
e et 8 FaTffere 399w
(A) et X(B) TEEI¢
o (C) anrd (D) HaTdl
(E) TaRasH
Which is the biggest fair of Rajasthan’s triba]
society?
Choose the most appropriate answer from the
options given below:
(A) Shn Mabhavirji Fair
(B) Kapil Muni Fair
(C) Beneshwar Fair
(D) Kaila Devi Fair
(E) Question not attempted
U1 & STCaTe! THTS T Ted FST IAT A
29 :
frafafad faseal 9 & waifaes 3ug® I -
(A) #ff HETERST HAT (B) gt i Hel
N (C) U HeAT (D) et <t Hell
(E) 3Tt g4
Which fair-is held at Bhavgarh Bandhya village
near Jaipur?
Choose the most appropriate answer from the
options given below:
(A)  Khalkani Mata Donkey Fair
(B)  Sheetla Mata Fair
(C) Karni Mata Fair
(D)  Kapil Muni Fair
(E)  Question not attempted
F%ﬁwm__@mﬂﬁﬁﬁ?—mﬂwm
) i
Frerferer ferred i & wrartforas sagw S00E
N(A) 2t @R grar T A
(B) Yt wmar fey
(C) TRt 7T frer_,
(D) mﬁagﬁﬁm"‘
(E) smaf@wer |
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43 Identify the charactenqnc featur

¢s of tl :
region in Rajasthan. 1e Aravali

q. The A
ravali nmunlalm are also called
Aadaval D 0
a mnunnm,l
b. The ,
Aravali mountain range is regarded as
one of
) the world® s 0ldest Mmountain ranges.
C s

thht mcrc'iéca from South-west 1o
North-east. (N

t7)
d. Gurushikhar s the, highest peak of the

Aravali ranges,

Choose the most appropriate

| answer from the
options given below: )

(A)  (a), (b) and (d) gnly

(B)  (a), (b) and (¢) cmjy

(C) (@), (c) and (d) Dn{y_!

(D) (a), (b), (c) and (d)")

(E)  Question not attergﬂtcd

TS H 3Waet & f‘g fasyarett < vgam

EAIELY s

2.  STUS 9EG T SSETS GETg i el S
&> £

b. WU wdd sEarifag # arfad odq
FEAT T STt 210

c. THEI FETE EﬁaﬂT{t[ﬁIH H IT-gd FiI 3R
Tl Bl ~ - Qf?

c:l. _TEITE 3| aﬂﬂlﬁﬁaﬁﬁﬁ?ﬁ\%’f’

ﬁqm%mﬁ%nqﬂmmwaﬁ
(A) Fad (a), (b) X (d),
(B) ad (a), (b) 371 (¢))
v (C) Fa (a), (c) AR ()

(D)
(k)

(a), (b), (c) 3R (dgfi
HAAT 94 -

44 Rajasthan is situated in the, part of India.

(A) North - Western(B)] North -Eastern
(C) North-Southern (D)} East - Coast
(E)  Question not auemp’lcd
TSTEATT 1A gfeaqal )
N~ (A)  Suufi “?)l W-qﬁ-q‘
(C) IuL-gteofi (D) 9gdide
(E) Agafta w4
ABC-A13] Y¢ 1
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Which of the following is not a metal?

Choose the most appropriate answer from the
options given bcl““’ﬁ)
(A) ;_h (B)
(C)  Phosphorus ;- (D)
()  Question not, attcnlptcd

ﬁmﬁf@ﬁﬁ%aﬂ?mﬁqﬁ%ﬂ
ﬁq%%ﬁﬁwﬁﬁmnaﬁhmmm?ﬁ
qHT (HTR) "'I{B} gifead
FERRE  ~(D) A
Il 94

‘O

I ( .
Sahitya Akademi A‘w;}rd winner Rajasthan Poetry

‘Mugtee’ is aulhorﬂd by

Choose the most ﬂp}f!"ﬂpﬂﬂfﬁ' answer from the
options given bclmy*

(A) Chandrabhan_ Khayal
(B) Khalid Hussdin

(C) Arun Chawla

(D) Meethesh Nitmohi

(E)  Question notidttempted

aifecs  3TehTeHT qTF:ER fasar, s wfaan
_UEr hEEE: O
ﬁmﬁ@aﬁaﬁhﬁ@wﬁwmmaﬁ
(A) TEMEEE | (B) @Ti%izgﬂ?

(C) TS =TaeT \}(D) e e

(E) aqqaﬂamr 2

Mercury Sodium

Magnesium

(C)
(E)

Identify the persuniﬁam Rajasthan, awarded the
Sarvottam Jeevan RaKsha Padak (Posthumously)
by the President of Iﬁala in 2021.

Choose the most up_praprmre answer from the
i)
options given helm}r_m

(A) Anil Kumar ”,] -

(B) Jatin Kumar .-

(C) Ramavtar Godara

(D)  Gyan Chand ¢y

(E)  Question notjattempted

wa%ﬁwaﬁeﬁmmﬁm%aﬂt
fS=8 2021 ¥ wRa i Yreafa g0 waiad Sitad @
Ugeh" (WTOTTITia) § qeqiia foram mam o

frefafae faweat & @ aaifas 3gg™ SOCIH:
(A) T FAR ”](B] Stfere AT
(C) ITH]T:E!HTﬁETI‘"(D) IE =<
(E) T7afta g4
| Contd...
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Who was the I" Pruuh:
Choose the

nt of India?

i most appropriate answer [rom the
Options given below:

(A)
(B)

Shri Pranab Mukherjee
Smu, Droupadi Murmu
(C)  Smt. Pratibha Devisingh Patil
(D) Dr. A P.J Abdul Kalam
(E)  Question not ; attempted

W%l“ﬁﬂ@ﬁ?ﬁqv}w

Who is known as the Father of Genetjcs?
Choose the most appropriate answet from the
options given below:

(A) Hugo de vries (B)
(C) Bateson (D)

G. J. Mendel

Charles-Darwin
(E)  Question not attempted

STA 1T 3 S foied e wiraT 27
ﬁHFmT@ﬂféﬁﬁﬁﬁﬁ?fﬁﬁﬁﬂgﬁmﬂﬁ:
(A) wmEHEE N\, (B) . g=q
(C) weda (D) aTed e

(E) SAqafta9a

Which of the following is not a part'efthe human
respiratory system?

Choose the most appropriate answer from the
options given below:

(A) Larynx (B) Bronchi

(C) Alveoli (D) Medulla

(E)  Question not attempted
Frefetfad 8 @ F19-81 aa a6 & 7 16 2
Frrferfia faresit & & warferas 3ugws w0 o
(A) 2 () (B) &,

(C) FfarTd (ufeaatedn) (D) Hgem

(E) #gard ¥4

AN

Y4 12

(D)

52

\A©)

— —

During exhalation, the ribs-

Choose the most appropriate answe, frg

options given below: M t
(A) Move down and inwards

(B) Moveup and outwards

(C) Move down and uul.wurds

(D) Move up and inwards

(E)  Question not attempted
ﬁﬁam%ﬁa’mwﬁm

(A) e T TR A I et
(€) = siware i 3R fd Fe
T H SFET HhT STl Feft )

——— e

(E) Fiia a4

Match List-I with List-II.

List-1 List-T1
a. Gobar gas plant [ Iron scrape ang
broken plastic
items

b. Vermicomposting II. Solid waste

c. Land fill [1I. Cow and buffalo
dung

d. Recycling IV. Earthworm

-1 |ra g=h-11 1 fire fifd

-1 -1

Ty 62 L ?ﬁ%ﬁrzﬂmaﬂc@

T AT &1 80

b. FHfamificn [I. 39 3afre

c. Y7 ROT (eFefFen)\[1, T 37 g F IR

d. gFesRur V. Fa |

Choose the most appropriate answer from e
options given below:

1 e e vt 3 & wratfiren s ST
(A)- a-Lb-1lLc-11.d-1V

(B) a-1Lb-1V,c-111,d-1
__i_1~_l_lI,_|:_1_:__I_V, c-1I,d-1 |

(D) a-lLb-1,c-1,d-1V '|

(E)  Question not attempted / Wﬁagﬂ
[ Contd
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Penicillin was discovered by . 56 Maru Raikas are the pastoral groups of Raikas
Choose the mast appropriate answer from the |
options given below: Wi ﬂ_m- . ;e answer from the
(A)  Robert Koch C'h[.mhc l!n: ml:l.'.lf appropriate a
B - options given below:
:C; E:::r:_i:::r (A) Cattle herders (B)  Camel herders
(D) Alexander Fleming €) Shesplerders (D) 'Guatherdos
(E)  Question not attempted (E)  Question not attempted -
aﬁ'&lﬁq’?ﬂa'[ﬁmﬁ“ Sewre R v TS T 9 ST 6T ST 36 A §YE
ﬁnrf%rﬁa?rﬁmﬁ#waﬁ%mmaﬁ
ﬁnﬁ?ﬁaﬁﬁamﬁﬁﬁaaﬂ%mmgi: ol i obinle
(A) TT = B) TeTd I (B)  FE e
VO R YD) iR (€) ISTH I
(E) qdiawy - (D) AT =Rl 9TeTd &
(E) I7dita 94
54  The first woman president of the Indian Olympic
Association is: 57  Gaddi shepherds belong to-
Choose the most appropriate answer from the Choose the meost appropriate answer from the
options given below: options given below:
(A) P.V.Sandhu (B) Smriti Irani © (A) Maharashtra
(C) SudhaMurti (D) P.T. Usha (B)  Uttarakhand
(E)  Question not attempted (C) Himachal Pradesh
YA A9 T hiT 99 GfEar aveqey 19 87 (D)  Rajasthan
ﬁﬂﬁfﬁﬁﬁﬁﬁﬁﬂ‘ﬁﬁaﬁﬂiﬁmmﬁﬁ (E) Question not attempted
(A) 9Tt EY (B) mﬁrémﬂ _TTEl i (A1) Hey TEd @-
(C) gargld (D) WL frerferfae faeredt & & waffires ugw sat
(E) A 9% (A) HERE Y (B) 3IWEsd
N (C) fumawRwd (D) ToEEd
55 In sports and games the Dronacharya Award is (E) igafa
given to:
Choose the most appropriate answer from the {ogg-  \Which of the following is the pastoral community
options given below: of Rajasthan?
(A)  To eminent coaches Choose the most appropriate answer from the
(B)  Players of Olympic Games options given below:
(C)  Players of Commonwealth Games (A) Dhangars (B)  Gujjar Bakarwal
(D)  Players of Archery ' (C) Gaddi Shepherd(D) Raikas
;2[%?1”“5!'““ n:{:ﬂnﬂg;;m 3, (E)  Question not attempted
Frrferfas faeedt B & waffires 39gw 30 34 %_i '} STERY S 0 5137 SIS 1 oY S
\(A) eI gfEE - ettt ferredt 3 & wraffires Fuge SCT:
(B) aﬁaﬁmmmwﬁ ) B) T
(€) T & e € TR \D) TEH
(D) dtigrsit 3 faenteat =
: (E)  3¥aita 94
() . ) | Contd
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=
{ Aconvex mirror is also called as — |
" 6 ropriate 3
59  In Rajasthan under the Mukhyamantri Nishulk Choos¢€ [l‘lC\_&'”“ H{JF p. ASwer fro ‘
free electricity ions ZiVe below:
Bijh Yojana (Qomestic Subsidy) ire opt! l?olu‘: -
a
(Zero bills) lis) provided to consumers whose ( :; Pa;crgem e
er
electricity ﬂ?l;%un‘lptmn is HnS B EC] Convergent mirror )
onth: t¥) (D) plané Thirror E |
Choose the mdst appropriate answer from the (E) Ques‘lla“ not attempted i
options givcrﬁ%lnw: off hEd & L
(A) - 250 Units (B) 100 Units --
(C) 150 Units (D) 200 Units
(E) Questuﬂﬂ not attempted
TSIEYH | g@pﬁ"r forgreen feretedl AT (S
SIS %W}F b i“l rat aﬁm (LA he scientist who proposed the Ly
forer) wem Sy afe | 62 Name the ¢l Wy
Eﬁfﬁ g A = [nheritancel™)
‘Jﬁﬂlﬁ%l [ j _ Choose thé?lmr appmprmre answer ﬁ'ﬂm
ﬁmﬁiﬁﬁﬁmﬂﬁaﬁﬁﬁ?ﬁmm TH: options given below: |
(A) 2507 N\ (B) 1007 (A) Newtén
©) 150af@ (D) 2007fE (8) GregérMendel
(E) ATafE Oy (C) T.H. *M[}l‘gﬂﬂ
O (D) Hargovind Khurana
() : (E) Qucsﬂan not attempted -_
60  Which scheme provides employment opportunity ST fﬁﬁ 213 71t Az F Am a
to the unen‘}iﬁ&byed youth by providing them Erefafaa i‘f%mﬁﬁmaug?ﬁm
employment oriented skill training? (A) A \(B) T HEd 1
Choose the most appropriate answer from the ’V\-(C} FARGCS i (D) E’Uﬁﬁ'—'«'@tl’-l'l )
b .
options given below: (E) Hﬂﬂ!(%lr T |
oar-J: hal Skill Karyakram _ )
(A) RojgarJan Kausha . ry 63  Which of e following is not a Lot
(B) Rajasthan Jan Kaushal Vikas Karyakram Lifiertiance
.M ' ;
(©) Rujgarfj_njAadhant Jan Kaushal Vikas Choose: flie \}m? AT —. f'runl i
Karyal;rqm options ;:w?p below: '
(D) Rajasthan Jan Kaushal Skill Karyakram (A) Law ofySegregation |
(E) Question not attempted (B)  Law of Dominance .__
FI-dl ?ﬁamt%w gmaﬁa?rﬁwmrq@aﬂm (C) Law'afiAberration i
yfeTeror 9aT 'ﬂ;'é? TSI T STFHT TSH FdT 27 EE) Law gl Independent Assortment 1
oo ) Questidn not attempted
et Fopedt & AR ST 3 p
o 3 ﬁnﬁ—rﬁgﬁﬁrﬂqmwﬁrm@ﬁ“ﬂ
(A) SR Sy T et Rl ﬁﬂ%ﬁaaﬁaﬁmﬁﬁnaﬁmamﬂ
(B) W,Wmﬁmwﬂm (A) g 57 ey
(C) s GTaTid S T o iy (B) 1 Frm
(D) TTE S et Rt iz N(C) Tt (ufsfearr a6 foam
(E) iaid ¥4 (D) = styege = fram
ABC-Al13] g 14
...
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' Crpa
pl‘EEldEnC}: of Indi
Choose

Meetingg for G-
4 Was held g¢-
“aPpropriate

20 under the

the mogy

oplions given belq answer from the

w:

(A)  Udai |

e .'upl.lr (B) Mumbes:
1) Jaipur D) s i

(E) " Question not ﬂuemptud urat

@ Wﬁhmmaﬁ
(A) ST (B) wwd 5
(C) AR (D) T
()  3Taf g )
! ’e h
:1 !;a::re was the 20" edition of India-USA Joint
funlary  exercise  “yyudh '
conducted? sz

Choose the most appropriate answer

_ i from the
options given below:

(A)  Madhya Pradesh

(B)  Gujarat

(C) Odisha

(D) Rajasthan

(E)  Question not attempted

HA- A TIF =7 SN I 371 2024

e 3

=T 20T HEHT0T Shel RN fRar T
Fefatad fawedl ¥ & gaifas svaws 39

(A) T UeTT (B) TG
(C) qifeem (D) TSI
(E) Saia g™

If we cut an apple and leave it in a plate for some
time, it turns reddish-brown in colour. This is due
to the formation of

Choose the most appropriate answer from the
options given below:

(A) Calcium oxide (B) Iron oxide
(C) Zinc oxide (D) Magnesium oxide
(E)  Question not attempted

Ifz & U T F1 FIEH FS G99 F [0 <l H BS
éﬁ%,ﬁﬂﬁm-ﬂjmdﬂg’mml%lw

F g9 & 10T &IdT el +
frefofag fascedl # @ @affere Iugwd I IH:
(A) FHfcHad ATFEES
(B) 9 JAE1SS
(C) TS ATawTsS

NUD) Ay siaarEs
(E)  7gaiea 94

ABC-A13] )¢
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Which of the following™ will float on water?
a.  Air filled balloon b. Sodium

c. Potassium d. Goldring

¢.  Steel spoon

Choose the most appropriate answer from the
options given below:

(A) (a)and (d) only

(B) (c), (d) and (e) only

(C) (b), (c) and (d) only

(D) (a), (b) and (¢) only

(E) Question not attempted
ﬁﬂﬁ—rﬁaﬁﬁﬁ?ﬁq-‘éﬁaﬁﬁuﬂﬂ o FH9L dTdT 87
a. TANEYITEMIN. b, @ifsad

c. Urefirm d. g &
e. EAFTImT b
o1 few v et & & watfares sugw sav
(A)  &a (a) 3T ()X ” .
(B) e (), (d) 3 ()

Fad (b), (¢) 3 (d) <

S (a), (b) 3 (c)

AR U4

A certain sum becomes 8 times of itself in 18

years on compound interest. In how many years
will it become double of itself?

IS TR Tshafg =T 9T 18 997 & w4 1 8 T &
STt 1 e Faret it T bt St & st 2
(A) 8 (B) 5

(C) 6 (D) 7

(E)  Question not attempted / 3T T4

Ifa:b=2:3, then whatis (a + b) : (3a - b)?
ARk a:b=2: S,Fﬁ{a +b) : (3a—b) FTE?
(R} D2 (B) 3:5

(] 2:5 ()] 533

(E)  Question not attempted a’aﬂ_ﬂ'ﬁﬁ'&rﬂ

The sum of three numbers 1s 196. If the ratio of
the first number to the second numberis 2 : 3 and
that of the second number to the third number is
5 : 8, then the first number 1s:
= @Ersil @ A 196 21 Al geddll ST @l
GEATSHY T STAATT 2 ¢ 3 2 quT qudl SN et weean
T STATA S : 8 @, dl Geell HEAT @
(A) 120 (B) 60
(C) 80 (D) 40
(E)  Question not attempted / JITAT T

| Contd...
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: N ) P [ l}r
The ratio of the average ol two numbers to on

er
the numbers is 2 : 3, What is the r tio of the larg

number (o the smaller number?

3 T ¥ srad FH I A ok s S
1%|ﬂ%ﬂwmhmﬂw€ﬁrﬂ‘ﬂﬁ?ﬂ%’

(A) 34y (B) 4:]

(C) §™ () 24

(I5) Qllhlhﬂ'. not attempted / :ﬂ'frﬁﬂ a4

A shnpkcclwr sold an item for T 1188 andsuflered
a loss u'f 10%. At what price should he iive sold
the m.m Pu gain 20% profit?

U dﬂal-lqltﬁﬂﬁm'ﬂﬂ Z 1188 & AT R,
10% 1R TSTAT R1 20% ST I A o (18, 36

e 13 {773 8 F=7 =)
(A) T'1675
(B) T1567
(C) <1657
(D) 2‘5534

(E) Questmn not attempted / AT 94

-
Rohan buys a wrist watch at 3
price and sells it to his friend at price whicliis 8%

more ll}fﬁ% its marked price, his profit percentage
1 ;

of its=marked

15.

nﬂ@@ﬂﬁﬂﬁmmm% 3 wetiga
Wmﬁﬁma&ﬁmqq%aﬁﬁmﬁﬁrm
2| Zgel oy Jfaerd e-

*)

(B) 28%

(€)  30%

(D)  35%
(E)  Question not attempted / A
£

The L(}H-Tﬂ'i{.i. of an article 1s % oL its selling

- Tlll- profit percentage in this transaction is:

I!'I
%maﬁﬁﬂmmﬁwmm 3 B ey
Sq-29 @ %1 ufard -
(A) 25% (B) 15%
(C) 20% (D) 24%
(IF)  Question not attempted / 311?1‘:353;
P

17

\uD)

vhich of the following SUructures is a shop o
whic N ‘

nd. found mostly. in western Rajasihaon
ol po

Choose lhmmmr rrp;:ruprmre answer frop, b
10

options £ aiven be

(A) L.lkﬂﬂ

(B) Bert”

(C) Nﬂﬁ“d.
in

" ;::,15[.'[{}“ not attempted

ﬁﬁﬁf@ﬁqqmﬁmmmmm
m qﬂlﬁumwtrrzﬂam%:

ﬁmﬁﬁaﬂf Wﬁffﬁmmai
(A) 3 i )
(B) FI
(C) aral |

(C) SAARa 94
" )

Under this prnject the surplus water of Ravi-Bess

is un[m:d for irrigation in Rajasthan. (

Choose l{m maost prrﬂpﬂﬂﬂ.’ answer from the

options Ll,vcn below: |

(A) ‘.-'.ldhrpukh Dam Project :

(B) Bisalpur Dam Project i

(C) Par{cl{mna Dam Project \

(D) Gandhi Sagar Dam Project r

(E)  Question not attempted

= Uiy % Fariq Uel-eATg Al a9

T TS & fow fepar SITaT 8l

e Rt  § watfirs 37gm W H
N(A)  Taga et gfErsET

(B)  foreter aifer wermT

(C) T e SRS

(D) ’fﬁffwwcr&mw

(E) amrfmw

\0
What is the Jeast number which when divided

12, 15, 18 and 20 leaves a remainder 3 in
case’ -

T B He o & R 12,1518 3 208
ﬁ"-ﬂﬁra%ﬁmm‘ Frorfey 3 97 3 <rdl &7

(A) m 1 (B) 177
(C) 186~ (D) 267
(E)  Question not attempted / aﬂﬁf{ﬁgﬁ

[ Contd-
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D

What is the least number which when decreased

by 4 is exactly divisible by 10, 12, 14 and 189

i@ﬁwﬁfﬁﬁﬂww%ﬁrﬁﬁqwﬁmm 10,

12, 14 7T 18 & qufq. ﬁwﬂ%’ﬁﬁ??ﬁﬁﬁ%r
(A) 1260

{B} C ‘}] 25(‘}
(C) 1264 {I’J}{‘ﬁ 252
(E)  Question not attemp(ed / 37751 gt
Y)
What is the greatest 111111111’5?\1;I1E¢h divides 149,
248 and 623 leaving remainders 5. 8 and 11
R 1 \{
respectively? )
U 999 9 ST | R, AHE 149, 248 T 623
1 TSI S 92 meT: 58,391 11 99 srear &2
(A) 15 (B)(M20
(C) 9 (D)(NI12
(E)  Question not altempﬂ:a / mﬂfﬁfﬂﬂ
L..."
The Foot and Mouth disease of cattle is a-

Choose the most ﬂppmpr!}_ﬁe answer from the

O
Plasmodial disease >

(™)
Bacterial disease (N
Fungal disease (Y)
QLIESI]DI] not altempf&d

options given below:

(A)
Viral disease

)
(C)
)

The highest percentage of(fag 1s found in which
>

animal product?

Choose the most appropriate answer from the

* W
options given below: "[’_}

T -
(A) Egg (B) C:EDW milk
(C) Meal (D) r—J-mh
(E)  Question not ﬂtlep[::q

fopy 2y Feara i @ @A B 27

St fracdl @ @ Aaifams 3G AU

\ (B) C3T/ &1 39
TG

A |
qrg (D)
aﬂ?fﬁ?ryrer

Y4
Z

(A)
(C)
(E)

17

X

83

84

N

In which of the following animal products, the

I?
m percentage of protein 1s found”

mintmul
wer from the

Choose the maost appropriate ans

options given below: ‘
(A) Meat (B) Cow milk

(C) Egg {’m' Fish

(E)  Question not atlr:mplf:n:l

frefafaa § & fFg st=g 3002 | T T TfdIrd
ST BT 82

Frtfefiaa et i @ Aatfaras 39gw 390 77
(A) wid N(B) T & IH

«(C) 3t N([D) wEEt

(E) 3 aia 94 =

The system of farming where crop production
and raising of livestock etc. are done on the same
farm is called as- _

Choose the most appropriate answer from the
options given below: ..
(A) Crop rotation (.B) Organic farming
(C) Mixed farming {D} Mixed cropping
(E) Question not attempted

et (FITHT) 1 T8 aderT o wEe 3cq1eT AT
TG 1S T & FAT (Brd) H 6T <1 €, Feetrn

- ()
ﬁﬂ%ﬁﬁﬂﬁﬂﬂﬁﬁﬁfﬁﬁimmﬂ?
(A) O Th0T (B) S A
CIEGREGI (D) b waa
(E) Igdia 94 L0y .

' i, |

—

Which National nghway does not pass through

the Rajasthan? Yy
Choose the most npprppg-iﬂre answer from the

options given below:
National Highway Nu -23

(A)

(B) National lllblmfﬂy_j}lu o |

(C) National Highwu}il}lﬂ - 10

(D) National IliLhwny-Nn - 44

(E)  Question not dllﬂmplﬂd

| T T TSTE & Bt Tel TSI 22
<for for 1T foreredt § @ WAR ITGH I IA:
(A) U gemml 4@’ 23

(B) TS Uemnt 6@ - 1

(C) T T §E&AT - 10

(D) UST Uemm] §E&AT - 44

(E) SIaia 94

| Contd...
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85  Which of the following citics in Rajasthan is
known as the ‘City of Stepwells’ duc to the
prominence of Bawris?

Choose the maost appropriate answer from the
options given below:
(A) The City of Ajmer
(B) The City of Udaipur
(C) The City of Bundi
(D) The City of Jaipur
(E) Question not attempted
Erfrfiaa § & T S RS e At £l
epEa 3 FR T ST TYaed’ el 62
Freferfiad faaed! 3 & watfers Iag A I
(A) 3TSHT IR (B) 3T I

\(C) AR (D) AL IEX
(E) aia ¥4

86  According to the Census of 201 1. which of the
following districts of Rajasthan was the second
largest populated district?

Choose the most appropriate answWer from the
options given below:
(A) Alwar (B) Bikaner
(C) Jodhpur (D) Jaipur
(E) Question not attempted
SETTOTAT 2011 3 STET e § § ST 6 AT
frfafiaa faswcdi § @ gaifie g™ Sal I
(A) I (B) &hMT

N(C) STUW (D) SAE
(E) 3ARd 94

87  In summer, hot dry and dusty winds which blow
in Rajasthan are known as:
Choose the most appropriate answer from the
options given below:
(A) Fohn (B) Loo
(C) Chinook (D) Norwester
(E)  Question not attemptied
Uﬁﬁmﬁxﬁmmgﬁﬂﬂﬁmﬁﬁwﬁwwﬂﬁ
&40 FHedTd] 8 =
P Teehedl 5 8 Waifers: suges sav g
) o B) & 5
(©) fow (D) e
(E) SAqai@ a4

ABC - Al13 ] gg

88

89

18

(A) Mavath

(B)y The Blossom Showers

() Kall Vaishak

(D) The Mango Showers

(E) Question not attempted

oftq R § T & FD i e

ﬁﬂ%ﬁgﬁﬁﬁﬁﬁ H’ﬂﬁaﬁauﬂ'ﬂﬁmﬂﬁ
\/(A) HES (B) tﬁﬁm

(©) Frel-a2md (D) AT =t

() a9

In the winter season rainfall occurs in some parts

of Rajasthan due to the Mediterranean cyclones,

which is called
C'hoose the most appropriate answer from the

options given below:

¥
§

Which of the following are exotic milch breeds of
i
cows? i

a. Red Sindhi b.
c.  Tharparkar d.

Jersey

Brown Swiss

e. Holstein-Friesian
Choose the most appropriate answer from the

options given below:

(A) (d)and (e) only

(B) (a). (b) and (c) only

(C) (b), (d) and (e) only

(D) (b), (¢) and (d) only N
(E)  Question not attempted

ﬁq%%ﬁﬁﬁaﬁq-ﬁagéﬁareﬁmﬂaﬁrﬁiﬂ.
T 82

a. e fadt b.
c.  URUTERT d.
€. Eﬁ?ﬂﬁq-ﬂ-ﬂgﬁm\u '.;
Wﬁqmﬁwﬁﬁﬁaﬁwwﬂ?ﬁ: :

o

;ﬂ—gﬁ'\_
3T =E Ao

A

(A) ohad (d) 3T (e)
(B)  &a (a), (b) 371 ()

FIA (b), (d) 3T (e) |
(D) ¥4 (b), (c) 3 (d) i
(E)  3r3afid wea ;

(¥ scanned with OKEN Scanner
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According to the Census of 201 the lowest sex
ratio is found in which district of Rajasthan?

Choose the mosr ﬂppmpnﬂn answer from the
options given below:

l‘f"

(A) Nagaur (B)  Rajsamand

(€)  Dholpur (D) Dungarpur

() Question not afteinpted

2011 ﬁm%aﬁgﬁnw%ﬁm%ﬁﬁ
wad &1 o s qm T

Frferfa freredi 3 3 "aiferes 3uge I 4.

(A) AR ((B)  TeEE
(C) HIeqT (D)  Tm9
(E) SHufmwyg O

3
£ )

e—

Sagarmal Gopa a dclg‘;?cral and freedom fighter
belonged to which qtate,

(A)  Delhi “(B) Punjab

(C) Rajasthan (D) Uttar Pradesh

(E)  Question not attémpted

T HEEAq g7

(A) Teeeit \{B} EEIC]

HELIE] qj} I WS

(E) SO 9d  pn

Y

e

Which of the following staltes were merged in the
first stage of Integration of the present Rajasthan?
Choose the most appropriate answer from the
options given below:

(A)  Pratapgarh, Shahpura Tonk

(B)  Alwar, Bharalpur Dholpur, Karauli

(C)  Bikaner, Jalpu;.;..];msulmer

(D) Banswara, Buug‘i'. Dungarpur

“i,} Question not attempted

FAH AT % U1 F woqw =0r 1 frefafaa
R H {96 51 7 wmfire Fey T o

et faeredi drarforas s e
(A) W, weq e

<o 1Y
(B) ST, T, YTy, el
\©) e, s, dmemr ggﬂﬂ

D) areErer, 4, o

93

94

19

N(C)

. (8]
Who opened almost 300 schools between | 044

1956 in the desert villages of Bikaner?
Choose the maost appropriate answWer from the
options given below! |
(A)  Kripal Singh®.
(B) Komal Kothdri’
(C) Swami Kcahw;i’mml
(D)  Acharya Tul:?: i
(E)  Question notattempted
FFH-1944 & 1956 % w17 st 3 LmEari miar 5
ST 300 Fhel @i,
ﬁﬂ%ﬁaﬁﬁmﬁﬁwaﬁhmmw-ﬂ
(A) Fuafae ) (B) S S
Tt e (D) ST qerH
®)  smfazs O

: (")
Select the incorrect
properties of non-metals.

statements about the

a, Non-metals qre] found in all three states of

matter. Ta
Except dmmgnd all non-metals are ductile.
Graphite is thhpardest non-metal.

Bromine is ajiquid non-metal.

lodine is a lustrous non-metal.

Choose the most dppropriate answer from the
options given below:

(A) (a), (b) and (e) only

(B) (d) and (e) only

(C) (a), (b) and (d) bnly

(D) (b)and (c) only

(E)  Question not Eﬁempted

Tt it e & i srger w1
Hiftr RN
mmﬁﬁmﬁwﬂmﬁﬁ
ﬁﬁmﬂ‘ﬁmmﬁ?ﬁélﬁ-
UTHISZ Herdl I 1T 1Y

S e 2 BT Bl
m‘l@?ﬂﬁ?ﬁm%lx
ﬂ%ﬁqwﬁmﬁtﬁmﬁmmmm
(A) A (a), (b) SR (e)

(B) e (d) 3R

(C) Fad (a), {b)"?rﬁftd}

2 (b) 3 (©)

(E)  37afa w4

o p o o

a0 g
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Coated with tin and not with zinc
because.

Ch?me the most appropriate answer from the
OPuions given below:

(A)
(B)
(C)

Zinc is less reactive than tin.

Tin is an inert metal,

Zine has higher melting point than tin.
(D) Zinc is more reactjve than tin.

(E)  Question not attempted

TN & feaalt (@) v fiien 3 v o o o o 5t
Frfesfian foredt 1 & warfires swam st
(A) S, o & = e 2

e ue Faft arq 2

IS 1 Torien, £ <t srem stfis AT 2
foier, o & s1firs e 2
ARG U

C)
(D)
(E)

Match List-1 with List-I1.
List-I List-11
(Name of Tree / (Utility of Trees/
Wood/Grass) Wood/ Grass)

a. SAGWAN TREE 1. Making coal

by burning it

Animal fodder

Making tools

of Agriculture

d. SEVAN & Making packaging
DHAMAN boxes

-1 3 AT F1-11 1 e iy

Tl -1

(T /AR (FAT/ARZY/

T A1) °TH i IULTHTaT)

a. HIEH I . 3° AT FITel

b. SALAR TREE I1.
c. DHOK I11.

Choose the most appropriate answer from the
options given below:

e faw o faeredi 4 @ waifas 3uge® .
(A) a-IV,b-1lc-1I,d-1
a-II,b-1l,c-1V,d-1
a—ll],b-lv,c-l,d_-__y
a-I.b-1l,c-11I,d-1V

Question not attempted / At uy

Y4
Z%

97

98

20

D

Which one of the following Nationg| o

ag | ous for conseryat;
sanctuaries is fam [Vation of fﬂﬂsih
in Rajasthan?

Choose the most appropriate answe, from

th
options given below:

Sariska Wildlife Sanctuary

A
EB]} National Desert Park, Jaisalmer
(C) Keoladev National Park
(D) Ranthambore National Park
(E) Question not attempted
Fret & & AT TS SET/ITART Ty
Sfraredt o e % fore uftg &2
Frafirfan et 3 & watfies sugm s
(A) EIER TS AT
\A(B) TS HEEIE IAM, SHH
(C) wadlied UL 3T
(D) TR TS 32T
(E) 3rgaid w
The Bhakhra Nangal Project is a joint venture of
Choose the most appropriate answer from the
options given below:
(A)  Punjab & Haryana
(B)  Punjab, Haryana & Himachal Pradesh
(C) Rajasthan, Haryana & Himachal Pr«fi'ﬂfff*tl
(D) Punjab, Haryana & Rajasthan
(E)  Question not attempted .
TGSt ATt ftismr 251 O 6 3¢
Frtfeifia faehect 3 & wraffores swaw SR
(A)  9SITer 3 g
N\ (B) AT, B oiv femraer wo
(©) TS, = sii feqraa =20
(D) g, wfmr siv e
(E)  safusy
[ Contd”
_d
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e I

The Construction of the Ganga  Mandir of
Bharatpur Was started by Mg
Singh im 1845 and
fgntiluled for
Choose the most appropriate answer from the
options given below:

90 Years (B) 10 Years

20 Years (D) 60 Years

Question not attempted

@@ & T AR i e s fim
@ 1845 7 W& o mar o ain fmbor 54
SR TET

araja Balwant

the tonstruction work

(A)

Which type of turban is worn by the men in
Rajasthan on the occasion of marriages?

Choose the most appropriate answer from the
options given below:

(A) Mothda (B) Lahariya

(C) Madeel (D) Antiwali

(E) Question not attempted

e F e & Saa W 9wy ford TR it aet
TEAd 87 |
refafEd fasedl § & Gaifere I9gw S I
(B) EfEn

(D) Fcrare

ATt
S 94

(C)
(E)

The amount of Award money for Paralympic
Games 2024 (Summer and Winter) Silver Medal
winner in India is:

Choose the most appropriate answer from the
Options given below:

(A) %30 Lakh (B)
(C) 75 Lakh (D)
(£) " Question not attempted

I 3 et feges e 2024 (oftoR it eeRre)
A e, forsin  ferw, ek Tf

Z 1 Crore
T 50 Lakh

21

102

\,(B)

103

r been (upto

Who among the following has neve *
of

September, 2024) the Chief Minister

Rajasthan?

? ; the
Choose the most appropriate answer from

options given below:

(A) Bhairon Singh Shekhawat
(B)  Sachin Pilot
(C) Ashok Gehlot
(D) Bhajan Lal Sharma
(E)  Question not attempted
frafafag & 9 m =t (fadee, 2024 95F) TS50
o1 e e T
frefefiaa fasmedt § & gaffas 399w 390 T
(A) o fo IrEEd
qfe qrgee
(C) 9Tk Teelid
(D) ¥ dTel IH
(E) a9

The Amendment Act which ceased the reservation

of seats for Anglo-Indians in the Lok Sabha and

Legislative Assemblies:

Choose the most appropriate answer from the

options given below:
107" Amendment Act

(A)
(B) 104" Amendment Act
(C) 105" Amendment Act
(D) 106" Amendment Act
(E)  Question not attempted
e gog sifufn Ses qe@q e 3R
frrasTaT ¥ el $feae o fore wier s s
quTH o far mar:
frmfafaa fawedl 9 4 aaifie Iuges 3o =
(A) 107 af wemae sifafrm
(B) 104 af g srfafam
() 105 af wemae srfafm
(D) 106 af w@¥ma stfufrm
(E) ¥Taid 94
| Contd...

e T D T S O R —

(¥ scanned with OKEN Scanner



Join Telegram "HaryanadJobs.in"

. i s ing materials cannot be y
104 Recyeling can be done for: {06 Which of the following seqd
o : t/manure?

a. Metal cans for making compost/mi

b. Medical waste Choose the most ippropriate answer from ihe
L{) | . i [ _

g Radioactive wisie options given hﬂ:l_':]}v'

d.  Plastic bottles ™ (A) Oil and paint

Choose the mosr ﬂﬂpriup.l"fﬂh" answer from the (B)  Fruit and Vepetables peels

. i (") ‘ ¢

options given below :i. l (C) I:xcrcm-diu'rl:g

(A) () and (d) onlyy (D) Rotten food)materials

[1:” (a) and [1'!') l."l]’ll‘\"“-I|| “-} f)llﬂq“ﬂn not ﬂﬂﬂmi'.lh..d

(C) (b)and (¢) nnlv{ 1 e fefaa o e -,;ﬁ;;{ o7 q2r4d FETZ/ETE T4 4

Ll

(D) (a): 1nd{d}nan] mqﬁmmﬂmﬂp

(E)  Question not "IE‘_I‘_EI'I‘I]‘IIEd ﬁlﬂ%ﬁﬂ’a i:am.q-{_r Wﬁmmwﬂ

Q=0T TSR ST Fahart. .

< B \(A) deairdd’)

a. H‘I?f%-'»ﬁ?cﬁiﬁfﬂ

g 1 R ”
et 3 glesal & o+
b. hﬁmm,ﬁr.{ (B) A7)

c. ifearafEa i = (C) TIET g

' " N

d. AT I "laetl (D) H%@ETZTT‘&
=1 few o feraesi # & Hrarifires g 3 (B ST
(A) aﬁﬂ(c}aﬂt{éﬁ} =)

107 Ifa:6=5:7=0c¢:8, then what 1s the value of

B) dd aﬁtb
i (ﬂ} {T 2a+3b—c oY)

©) = () 3 o) ETIRN 2a+3b-c
\\'[D] W{a)ﬁ’(?y g a:6=5: Tnce: 8, @l St e EaReIC]
(E) waiEwy T 7 -
e 11 .
(A) 15 (B) 4
ES The microorganism }Eﬁ:t causes Rabies is a- - 5 I_”' . 4
Choose the most upgrf:prfme answer from the ©) 3 ‘—i} 5
options given belnw':‘w (E)  Question not attempted / ﬂﬂ?fﬁlﬁﬁﬂ

-

(A) Fung ) 108 In cattle dlEESIIfjﬂ of cellulose occurs in-
(B) Bacterium ' Choose the most ’!upprupr:afe answer from the
(C) Virus () ! !

Ll‘ { ﬁ ] I L #

(E) Question not attunph:d . . e
) b} ks LN D i. - :-."-‘
TeTe & feu 9 3 2. (©) umen A (D)  Small intestine
fefafad fawea g Haﬂ“ﬂsﬁammaﬁ: (E)  Question pat attempted
- - ; QI H HelelIS &LUTEE 8TdT & -
(A) A% =
(B) SfEm (M) ﬁﬁﬁf@?ﬁ‘vﬁnﬁnaﬁimmmai
~C) faum (N m} a‘sﬁm% (B) e
H:: rf} 2 -
(E) SAqqfta g4 (E)  31afa wer
ABC-A13] 3§ 22 [ Contd...
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109 Cudis-

N\ (B)

110

111

Choose the most appropriate answer from the

options given below:

(A) Fully digested food in carnivores
(B) Partially digested food in cattle
(C) Fully digested food in herbivores
(D) Partially digested food in carnivores
(E)  Question not attempted
ST (F) ©-
Frferfiaa faaredi & @ wraffires Sagw 30
(A) wraTerfEt 8§ qof aifad wisH

qersTT § STifere w9 @ wifed Wis
(C)  STeFTETiE § ot arfea sieE
(D) wiETeTEl # 3ifires &9 & gifad \sH
(E) S0ia o4

The respiratory organs in fish are:

Choose the most appropriate answer from the

options given below:

(A) Fins (B) Spiracles
(C) Lungs (D) Gills

(E) Question not attempted

ogdl 0 999 H &

efafad faeeqt 4 9 gatffas UG 3?1'-[?__?[

(A) 19g (fF) (B) 4™
(C) %S (D) =W (fren)
(E) SaRa 9"

Which of the following states does NOT share its

border with Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Punjab (B) Gujarat
(C) Maharashtra (D) Madhya Pradesh
(E)  Question not attempted
frafafad & @ #19-91 759 U964 & 919 3794
fa=fafaq fasedl § @ @aifae 3ugw 3l T
(A) 99" (B) TSIUd
\_(C) wenr= (D) WA e

(E) i 94

ABC-A13] Y7

23

112

113

114

Which of the following Reactor Type is currently
operating in Nuclear Power Plants of India
situated in Rajasthan?

T o GTHI] Ht ET 3 | e § frua g
q forer 5 & fopw wehm o v frosrer 22

Choose the most appropriate answer from the

options given below:

Freferfaa famedt § & watfers oz 00T
(A) VVER 1000 (B) CANDU

(C) BWR (D) IPHWR 590

(E)  Question not attempted / Eﬂ_ﬁ'ﬁﬁﬁﬂ

‘Gram Swaraj Abhiyan® was undertaken under:
Choose the meost appropriate answer from the
options given below:

(A) Mera Gaon, Mera Desh

(B) Sabka Sath, Sabka Vikas

(C) Sabka Sath, Sabka Gaon, Sabka Vikas

(D) Sabka Sath, Sabka Vikas, Mera Gaon,
Mera Desh

(E)  Question not attempted

I TGS A fohges 3iaria S mam

frfafaa fawea 4 9 gaffae sugs ot

(A) WIS, OO e

(B) TR 9T, G g

(C) WIS |1, HelHT 7T, Hefeht faahrd

(D)  HeehT 9T, GelehT e, B Tia, §37 297

(E) Faiayd

The lowest populated district of Rajasthan
according to the Census of 2011 1is:
Choose the most appropriate answer from the

options given below:

(A) Bundi (B) Dholpur
(C) Sirohi (D) Jaisalmer
(E)  Question not attempted

2011 1 SHTUET % AR TSFAH FT G0 FH
STHEEAT 1eT fSrer &:

fr=fefiad faseat @ & waffire Iugw Iaa:
(A) & (B) HIET
(C) faue \ /D) AW
(E) 3 aita uy
| Contd...
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115 According to the 2011 Census the highest density
of population in Rajasthan was in which district?
Choose the most appropriate answer from the
options given below:

(A) Dausa
¢

\
(C) Bharatpur ()

(D) I,

CH
(E)  Question not attempted

2011 I SEIUMT & SFER Terear & g et &
Frfirfian frsred] 8 @ wraffires S7gw SO0
(A) T ("
\@B) R -

= A

(C) HEW Y

=

(D) 3AdET
(E) mﬁﬁm{

L)
€

116 During the decadé of 2001-2011 in Rajasthan, in

(B)  Jaipur

Alwar

which district w&sfthe highest growth rate of
C\

population? )
Choose the most-appropriate answer from the

options given below:
L™

L)
(B) Bikaner ¢

(A) Barmer

(C) Ganganagar -
)
(D) Jaisalmer

.
(E)  Question not attempted
2001-201 1 3 23T H TSTEAT o for fter 8§ s
9fg 2 gaitae 41y
Frferaa faseat 5| aatfies sagw 3w T4:
No(A) arem -

(B) T

(E) sriEaas

ABC-A13] ¢ >4

117  Who among the following may be called the first
prose writer of Rajasthani literature?
(A) Shiv C_hlajndrﬂ Bhartiya
(B) Vijiyadan Detha
(C)  Vijay Sirdgh Pathik
(D) Mcghrftj jMuku[
(E) Qumnpninm attempted

Fretfefiaa o @& \Bra arerear aifeed 1 999 T
G el I GaFar 87 _ |
(A) fmaezwdm (B) fasEEE

(C) ﬁwi?!?trﬁm (D) HTH qF
) Sy

-
work’ } which

describes the  great

118 Poetry

achievement$ of a dynasty or an individual is:

Y y '
Choose the Lr&sr appropriate answer from the
7

options given'belnw:

(A) Rupaky ¢y (B)
(C) Vigat if) (D)
(E) Questibn‘nnt attempted

Raso

Prakas

Eqﬁf\‘ﬂ'ﬂ’rﬁr
ﬁﬂ%ﬁﬁﬂﬁ%ﬁﬁﬂﬁﬁﬂff\wmﬁmﬂ?

(A) ®FF (0 \(B) TEI |
(C) foma (D) W™ |

) |
One stringed mublml instrument that can produce -

119
a wide variety+af tunes and melodies is called:-
Choose the hidst appropriate answer from the
options givcr{ _B.’&lnw: |

(A) (B)

(C) Khartal () (D)

(E)  Questibhinot attempted

Ueh AT aTeT ey arer 2 i Farr ST o 6 A

T I9~T T Gl &, FeaTTdl &

ﬁmﬁmwﬁaaﬁmmmaﬁ

(A) TavEeam, N\ (B) THAWl

(C) wedret.” (D) T

(E) i 94

Ektara

Pungi

Rawanhattha

| Contd-5
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120 Match List-1 with List-I1.

List-11

II.'|'

(Belongs to)

List-1

(Shepherd

community)

a. Raikas 1. .. Jammu and Kashmir

b. Dhangars 11! “Rajasthan

L' )
c. Gaddi Shepherds  111.-Maharashtra

d. Gujjar Bakarwal 1V. Himachal Pradesh

F1-1 % |1y g=i-11 1 fiem ifsg
-1 ‘e‘l?ll"l)ll
(TSTAT FHeT) (wfﬁa%)

2. TFEH 1. S s
b. 99K \-H:*rﬁiﬂ'ﬁ'@ﬂ?

c. Wﬂ@vﬁq\ 1) b
d. TSR qmtq;\w

. fenree vem

Lo
Choose the most appropriate answer from the

i

options given below:
o mE mm : } =
AT few T foshedi § & wajfee 3uge et
a-MLb-11,c-TvEidh]

(V)
a-IV,b-1ll,c-1l;ds- 1

(A)
(B)

\_(C)

(D)

a - 11, b-III, t:-I‘\.fr d-I

=T, f= T =TV d”ll
1{)

Question not attempted / Hﬂ?fﬁ?r a4
5
(¥}

121 In India the Wild Liﬁ:{.h{’rﬂlﬂctiﬂn Act was

(E)

implemented in- (¥}
.. o e
I | a1t Jieqvr stfafaa @y ferar mar o -

Choose the most approprigte answer from the

options given below: i)

Frsfeere Fraeit § 5 wraifiras a0
(A) 1976 BJ " 1968

(C) 1970 \\.{D)ri 1972

(E)  Question not auempted / GEIJ?TF{?I'H’EI

ABC-A13] )¢

25

123

122 Which of the following is not the indigenous

‘.a::hr‘r

milch breed of cattle?
A

Choose the most apprbpriate answer from the
i N [IIl
options given below: -

(A) Sahiwal (")

(B)  Jersey ( : "

(C) Red Sindhi : _ j

(D)  Tharparkar

(E)  Question not *ftférnpted

ﬁnr%l%ﬁﬁ@raﬂq‘eﬁw%ﬁaﬁwaﬁmm
qﬁ%"

ElZIRItEn ﬁmﬁﬁwﬁwmm?—r
(A) W < £
Ry [B) :,Egﬁ =< -
(C) et et |
(D)  URIRET :“;
(E) 3Tgaiawa "*";'-ff
-
&
Which of the fnllawmg 1s not a fresh water fish?
Choose the most ap{?rﬂprmre answer from the
options given below:
(A) Common Carp,¢
(B) Catla u
(C) Rohu jf
(D) Hilsa W
(E)  Question not a};‘émpted
Frferfae o & -t ot sraavitg sier = woe
Tl 82 |
— . Al
Frferfaa faeredt & § waffie sogm 3w -
N(A) wmgwd O
(B)  hdell f
(©) g &
(D) fean :1-
(E)  Aqaftd uu
| Contd...
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124 The advantages of the cage system of rearing

poultry birds are-

a. Rearing of larger number of birds
b. Production of clean cggs

c. Control of parasitic discasc

d. Ensuring proper ventilation

Choose the most appropriate answer from the
options given below:

(A) (a).(c)and (d) only

(B) (a).(b)and (c) only

(C) (b)), (c) and (d) only

(D) (b)and (d) only

(E)  Question not attempted
e et ot foror (STeft) Rreew 3 arers o o 2-
a.  Tues 96T H iedl 1 9T &

b, TS ST H AR —

> P EICIRIUICIRCE E i

(A) Fa (a), (c) 3 (d)
(B) &3 (a), (b) 3 (c)
N(C) FA (b), (c) AR (d)
(D) A (b) 3R (d)
(E) AI0ia ¥4
125 Which of the following is designated as the Nodal
Agency in Rajasthan to implement the Prime
Minister Formalization of Micro Food Processing
Enterprises (PM-FME) over a period of 5 years
from 2020-21 to 2024-257
Choose the most appropriate answer from the
options given below:
(A) The Rajasthan State Food Marketing Board
(B) The Rajasthan  State  Agricultural
Marketing Board
(C) The Rajasthan State Administration
Marketing Board
(D) The Rajasthan State Applied Marketing
Board
(E)  Question not attempted
ffafaa f @ fa 2020-21 @ 2024-25 a5 T4
&1 Aafa J “TUTHAT G&H @re TeER) IUH I~
RIEEUCIRCE U UH $)" ] A A o T T
§ et USH % w9 8§ 1fad fora mar 22
frafafaa fawed 4 @ watffae sogw 30 4
(A) TISTEATH =22 B HIdHia a1
(B) TS w22 i fauue aird
(C) TSTEYTH T U9ITEA HIh {1 a1
(D) TSI T2 UATEE HIh1aT sile
(E) 3afE a4
ABC - Al13 ] 3‘{

26

126

127

Which of the following schemes was launched to
integrate skill development in academic colleges?
Choose the most appropriate answer from the

options given below:

(A) Mukhya Mantri Kaushal Nirman Yojana
(MMKNY)

(B) Mukhya Mantri Kaushal Vikas Yojana
(MMKVY)

(C) Mukhya Mantri Yuva Kaushal Yojana
(MMYKY) |

(D) Mukhya Mantri Yuva Sambal Y“jﬂﬁld
(MMYSY) iy

(E) Question not attempted

Srerfires ST 3 FwTer FrEE #1 T -

fora Prefafae § & SE-H1 Fr5m1 7= #1132

frferfiae fareedt & waffare Iogw I I

(A) TEEHHT e i AsET (MMKNY)

(B) g@nﬂﬁwﬁﬁmm (MMKVY)

(C) HEAHHt qaT FHere AT (MMYKY)

(D) HEIHAT JaT T ST (MMYSY)

(E) ATaia v

The “One District One Product Scheme™ falls
under which ministry in Rajasthan? |
Choose the most appropriate answer from the

options given below:

(A) Ministry of Commerce and Industry

(B) Ministry of Finance

(C) Ministry of Social  Justice and
Empowerment

(D) Minister of Textiles

(E)  Question not attempted

ek e e Ieure gisET nmmrr%srlﬁﬂﬂ
& aTdTia 37Tt 82 |
ﬁn%ﬁﬁﬁmﬁﬁmﬁ&mmmai |

(A) UST T I WA

(B) fa= ware

(C) umIfSe =T v tfirentiar dererd
(D) FISTHATSH |

(E) ATl 9

(¥ scanned with OKEN Scanner
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Which of the following schemes provide health
insurance coverage to the entire population of
Rajasthan? L

Choose the most nppﬁ:}:rﬁnm answer from the
)

L i‘:-.} L ] L] L
Mukhyamantri r;F]umnjcr:w

options given below:
(A) Swasthya
Bima Yojana (]

(B) Mukhyamantri Nishulk Nirogi Rajasthan

.

Yojana -/

(C)  Mukhyamantri Nishulk Dava Yojana

(D)  Mukhyamantri Nishulk Janch Yojana

(E)  Question not atl&%ptcd

Preifefiaa & & F-qiziom qoem 1 awpt
ST 1 TTEL ST F & Hie 27
ﬁﬂ%ﬁmﬁwﬁﬁ‘ﬂmﬁbmmwaﬁ
(A) wﬁﬁwﬁa"r%&maﬁmm

(B) et Freyess R arre atemT

(C) geawHt (A3 gar Fismr
n@qeﬁﬁsrﬁéﬁuﬁw

b &
TG 94 )

£
What 1s the HCF of twio humbers if their LCM is
36 times their HCFLahd the product of the
numbers is 2304? f‘*tl
3 WS F W WS T 2, AR
TIAH GHIYS e 3% Hedd Ga9ade T 36 TR
WWWZ:’JO‘}%

i)
(A) 10 B) 6
(C) 8

M 9
(E)  Question not attempted / Gﬂﬁfmﬁﬂ
Ankit bought 4 shirts at T 550 each and 2 trousers
at < 820 each, what gjlhe average cost of the

(E)

m

items?

Sifed 7 4 FHist T 550 I3 il A TUT 2 I
(92) T 820 maﬁm:é@ﬂa T ATl aﬂm
qﬁw%ﬂ &
(A) 620 L
(B) T 690 ()
(C) T 665
(D) 640 o

(E)  Question not attempted / 3‘{33?1'&?[ aa

Y4
%

131

132

133

27

The average weight of a class of 33 students is
35 kg. If the weighﬁﬂf' the class teacher and the
principal be included, then the average weight
Increases by l kg,ﬁVhal 1s the average wmght
(in kg) of the E]ﬂSQ‘ tgacher and the principal?

TR & Saamgse (ﬁﬁm ) farar 22
(A)  59.7 L)
.
(B) - 52 O
(C) 50.25 (¥}
D i 0N
(D) : (")
(E)  Question nofattempted / Cﬂflﬁfﬁr T

In a class of 40 ﬁdents 45% are girls. The

average weight n{_l}e boys is 48 kg and that of
the girls is 43 kgi-What is the average weight

(in kg) of the whnmlassr?

E’EW%Mﬁﬁtﬁiﬁﬁﬁfﬁ%mgl
T 37T ToH 43%@1@%&%%3@
43 ToRam R| ot sam b Sfvaa s (RRa i) aar 2

O
(A) 488 L)
(B) 45.25 £
©) 405 Q

{v)
(D) 45.75 0N
(E)

Question mﬁquf:mplf:d / AR O
(3 d

What is the SEEEEE discount equivalent to
successive discounfsyof 25%, 20% and 15%?

I T 25%, 209 3 15% % T Tohet w2
ER 1Y, =2

(¥}
(A)  42% O (B)  60%
Y
C) 51% 8 (D)  49%
(E)  Question not attempted / 3Tqfd T
| Contd...
P
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134 On selling an article at a discount of 28% on its | 137 Mareks disease is a COMMON disease of-

marked price, the shopkeeper still earns a profit

of 20%. Had he sold the article at the marked

Choose the most appropriate answer from the

" ¥ g - Ti\.-’ﬂl"l bEIDW:
price, his profit percentage would have been: options g

fordlt &g =t siferd go 9T 28% o2 & T = T (A) Honey bee

ot gFMIR 20% & Affa e 21 af a7 awq =l (B) Cattle

3fehd qod G AT AF Ik AT 1 Ifqwra fera

RGN (C) = Poultry

(A 333% B) 662% (D) Fish

(C) 40% (D) 58% (E)  Question not attempted
(E)  Question not attempted / AR T4 o T T e

135 If the price of petrol increases by 20%, by what

percentage should the consumption of petrol be (A) OUFRET T
reduced so that there is no change in the expenses S
on petrol? G [ rRE s
UZIST T qeF 20% 5 ST 8] 36 Wﬁﬂﬁ%ﬁ% (C) FFHE HI
YT aht AT T 1T, forad Iier o 81 arelr = %,
(D) WSl &

3T & @2

[ (E) 3afiayy
(A) 133% (B) 25% =
(C)  20% D) 165%

(E)  Question not attempted / awg?rﬁmrar 138 Bugyals are-

Choose the most appropriate answer from the

136 Milk fever is usually observed in cows and
buffaloes around calving time and is characterized
b}:..
Choose the most appropriate answer from the
: Bl - D in Kumaun
options given below: il TR
(A)  Reduced blood calcium level

options given below:

(A)  Snow covered mountain peaks

(C)  Dry forested areas in Kashmir

(B)  Reduced blood potassium level (D)  Vast meadows in high mountains

(C)  Increased blood calcium level

(D) Increased blood potassium level () Question ot atiempted

(E)  Question not attempted T ¢ -

ma

B s

Feferfes faredi 3§ & aaffere sgaw a0 (A) =% s da fira
DSTVNIIE o3 3-7 s e — \(B) TS 3 3y 7 8

(B) Tk | qreferam w1 we i .

(©) & e T e (©) =¥ s 3 o

(D) T i drfirer T o AT (D) 3= el ¥ ey et i

(E) refaws ® smgofaws
ABC-A13] )¢ 58 i

|Cnntd---ﬂ
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139 Which is the biggest saline water lake of | 141 Khejarli Andolan for environment conservation

Rajasthan? ' : : ' '
\ 1S associated with which state of India?

Choose the most appropriate answer from the Choose the most appropriate answer from the

ions given below: i '
options g Options given below:

(A) Lunkaransar (A) Karnataka
(B) Didwana (B) Gujarat
(C)  Pachpadra (C) Madhya Pradesh
(D) Sambhar - (D) Rajasthan
(E)  Question not attempted (E) Question not attempted
TSR il gl 91 @R Ut Y 3t -t &2 AT W % I srem T deeel st
Frfefa fosedi 3§ & waffae soges sac: I < foher o & waifem 29
(A) TR | Frefafad faweat & & gatfas sggw 390 =3
(B) EreamT (A) FAEH - )
(C) 9=UsT (B) TSA@
\~ (D) ¥R (C) HATRW
(E) iufa v Nu(D) TEIH
(E) A7aia u

140 Which river of Rajasthan is connected to the

Vedic and Puranic period? 142 The highest amount of rainfall is received by

Choose the most appropriate answer from the which of the following parts of Rajasthan?

options given below: ]
p g ow i Choose the most appropriate answer from the

(A) Luni options given below:
(B) Saraswati (A) Northern Rajasthan
(C) Mahi (B) Eastern Rajasthan
(D) Banganga (C)  Western Rajasthan
(E)  Question not attempted (D) Southern Rajasthan
TSI Fil F19-d1 731 Afew vd QYT Tl § et (E)  Question not attempted
2 TSTEAT o -8 9T 3 31freray af aTw @t 2
Frefafes fased & @ aatfies sugw 3o frerfctfaa fasredt & & aaffre sogw 3av 3.
(A) (A) 3T TSrEYTH < ) )
B)  wEEd (B) eff o o
(C) W& (C)  uferdt Tereem "
(D) SO N\up) e 3 @
(E)  ¥efa v (E) et s
ABC - A13 | 3{ 29 [ Contd...
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I —

. el o3
143 Which is the only river in Rajasthan which flows 145 The simple interest on a sum of money is g of

for all twelve months of the year? . sum and the thihber of years el o dlic
i)
rate percent per annu

Bpropri from I
Choose the most ﬂﬂpf‘ﬂpﬂﬂfﬂ' answer from the e
i) :

options given hclnu::.:;{_: = £l . 5 ILF{I'I'E!TW % 3
(A) Banganga - ,_] I _ .
4 ﬁmﬁmﬁ#,ﬂﬁm%m%lm
(B) Sabarmati % 1
i'“.."l E 1;_:;'
(C) Chambal i arfiieh T 2
2
i 25"
(D) Mahi (A) %3 O
! hit Lo il
(E)  Question not t__}fempted (B) 22 A }
. - gl B )
[T B O TRHTH e S 9 § aREl "o qeh T | B y
™ C -0 .
et 27 Lol i \
() .
o : | LM
o fow e feredt AR HEH ITGH I D) 33% m
(A) SRR f',..f: (E) Question ndt-attempted / aﬂﬁfﬁf e
(B) €r=Hdl s
\U{C) EEN e 146 In what time, < ﬁ;t}q{} will amount to < 9261 at
L{) | _
(D) =l O 20% per annumg{;mpmund interest when the
(E) 3 USRCE ff;; | interest 18 cﬁmpnu‘ﬁaed quarterly?
i {4
5 (A) 9 Months (7
'
144 X’ lent T 8000 to “Y? for 2 years and T 6000 to
I (B) 3 Years

*Z’ for 4 years on simple interest at the same rate l
(C) 15 Years{(

g
(D) 1 Year -,

of interest. ‘X’ received < 2400 in all from both

; {} ;
of them as interest. "]E—he rate of interest per annum
:

2o - (E)  Question n??ﬁttempted
. * "
Wm&ﬁmﬁ#m*x* 2 ut & fag Y’ & forae T & ¥ 8000iFhT Tfer Tshafe st 7 20%
% -~
il ) ! {7
< 8000 V1 7A€ T4T 1Z° 1 4 =i & el T 6000 gffes awa T 92@'@31@1‘%,!11%%%%
SV ZAT 21 X S % T 2400 ST 6 w0 & W NV IRT T
AT 2l AT &l dftigh 2T 8- O
l'ﬂhl (A} 9% lﬁ
(A) 8% o :
- (B) 3 9 9
(B) 5% - Il g
C = (V j
C) 6% 3 il O
(N D) a4 ~
(D) 7% (") (D) M
- )
(E)  Question not aftempted / 3Tt wx (E) 377afta wa
ABC - A13 | 3€ 30 [ Contd...
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Which of the following Songs is sung by men

during Holi?

ose '
Cho the most appropriate answer from the
options given below:

(A) Toran
(B) Rasia
() | Mayara
(D) Badhava
(E)  Question not attempted
ﬁ?ﬁwgﬁﬁmﬁ?-ﬁrﬁammﬁ?
P fasredt 4 & wratfire saaw so0 =
(A) ROy \ |
e
(C) #HIU <
(D) =YrEr
(E) SAT9ia wgr

Which dance is performed in the temple of Kaila

Devi?

Choose the most appropriate answer from the

options given below:

(A) Dandiya Dance

(B) Languriya Dance

(C) Dhol Dance

(D) Fire Dance

(E)  Question not attempted

S e v i T e T T 27
Fefefad faeredl § & gaffies Iugw 3w T:
(A)  zifear g

©) =T

D) g

(E)  srafa u

31

149

150

What dance is performed in the sitting posture?

Choose the most appropriate answer from the

options given below:

(A)  Gavri Dance

(B) .~ Bhawai Dance

(C)  Terahtali Dance

(D) Bamrasia Dance

(E)  Question not attempted
R8T e 331 78 w37 3 Foa ey 20
Frerferfa foevedt & warfaras swges 3w
(A) T T

(B) waTE I

(C) et 3o

(D) =wrfeaT 3o

(E) 1@y

‘Chaar Baint’ is the famous folk drama/

presentation of which region of Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Jaisalmer

(B) Kota

(C) Dausa

(D) Tonk

(E)  Question not attempted

IR AT TSR % TR & W whie o
e
ﬁﬁi‘aﬁaﬁﬁqu‘ﬁmﬁ%ﬁwmﬂﬁ:
(A) S

(B) I

(C) <rEr

(D) 2

(E) 3uf@

| Contd...
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